Вариант 1

а) Решите уравнение

б) В ответе укажите корни, удовлетворяющие условию

[image: image1.png]a) 7sin® x+4sinxcosx—3cos’ x=0
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Вариант 2

а) Решите уравнение

б) В ответе укажите корни, удовлетворяющие условию

[image: image2.png]a) cos2x +2cos’ x—sin2x =0

0) \'c{




Вариант 3

а) Решите уравнение

б) В ответе укажите корни, удовлетворяющие условию

[image: image3.png]. X X X X
a) smx+(cos——sm—][cos—+sm—] =0
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Вариант 4

а) Решите уравнение

б) В ответе укажите корни, удовлетворяющие условию

[image: image4.png]a) cosx:[cosifsinij -1 0) \’6‘: 27[}
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Вариант 5

а) Решите уравнение

б) В ответе укажите корни, удовлетворяющие условию

[image: image5.png]a) sin2x =2sinx—cosx+1
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Вариант 6

а) Решите уравнение

б) В ответе укажите корни, удовлетворяющие условию

[image: image6.png]a) 6cos’x—7cosx—5=0

/7:2/7]




Вариант 7

а) Решите уравнение

б) В ответе укажите корни, удовлетворяющие условию

[image: image7.png]a) cos2x:1—cos(%—x)

0) xe{
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Вариант 8

а) Решите уравнение

б) В ответе укажите корни, удовлетворяющие условию

[image: image8.png]a) Gsin’ x+cosx—5=0 6) x<[27:37]




Вариант 9

а) Решите уравнение

б) В ответе укажите корни, удовлетворяющие условию

[image: image9.png]a) V3sinx— tgx +rgxsiny = NG




Вариант 10

а) Решите уравнение

б) В ответе укажите корни, удовлетворяющие условию

[image: image10.png]a) 4cosxsinx—3sin’x=1




